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35 marks                                                Date


	Instructions:  1.  Answer all questions.

 2.  Calculators permitted
                   3.  Protractors required for Question 4b)


Question 1 (N5.1, N5.2, N5.3



13 marks)
a)


Calculate each of the following:

i)
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ii)


What is the GST on a $26 sale?

iii)

Calculate 36.6% tax on an income of $38 870 pa.





iv)
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v)
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vi)
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vii)
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viii)

4 – 7












ix)

– 2 – 4
+ 8







































(1 each)
b)

Write the following in index form:


3 x 3 x 3 x 3
 x 3







 
























(1)
c)

Arrange the following integers in ascending order:


5, 0, –2, –3, –1


















(1)
d)
Tina received [image: image6.wmf]5

2


of the inheritance.  Tom received [image: image7.wmf]5

1

 of the inheritance.

If there was $20 000 left, what was the value of the inheritance?





















(2)
Question 2 (CD5.1



8 marks)

a)

Write a definition of probability.




















































(1)
b)
A die is thrown.  What is the probability of each of the following happening?


a)


4



























b)


odd








































(2)
c)
Twenty-five cards are numbered 1 to 25.  What is the probability of selecting a card that shows the following?





a)


<7

























d)


a number divisible by 5























(2)


d)
If a die was tossed 120 times, how many times would a number greater than four be expected to appear?






























































(1)
e)  The following game is played with a die:





A Hit is a 6












A Miss is a 1, 2, 3, 4, or 5 





If you get a Hit you score 4 points.  
If you Miss you lose 1 point.

If after 30 throws you have a positive score then you are a winner.  If you have a negative score then you are a loser.  

Comment on the fairness of the game.  Use theoretical probability to support your point of view.












































































(2)
Question 3 (PA5.2



7 marks)

a)
Write each of the following as an equation and then solve the equation:

i)


When a number is added to eight, the result is twenty-two.






















(1)
ii)


When a number is divided by six the answer is five.





























(1)

iii)

























iv)

























v)


















































































(1,1,1)

vi)

The lengths of a triangle are  2x, 4x, and 6x.  The perimeter is 48 m.














(2)
Question 4 (S5.2



7 marks)

a)


Write the following directions as compass bearings:

i)

E





























ii)

SE







































(1,1)
b)


Use a protractor to measure the bearing of each of the following lines:





i)
































ii)











































(1,1)
c)
If a map has a scale of 1 : 1 000 000, what is the actual distance between two points that are 12 cm apart?

































































(1)
d)
Name the Australian city closest to the following Earth coordinates


i)

23°S  135°E



















ii)


34°S  146°E





























(1,1)

ooooooOOOoooooo
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	Instructions:  1.  Answer all questions.

 2.  Calculators permitted

                   3.  Protractors required for Question 4b)


Question 1 (N5.1, N5.2, N5.3



13 marks)

a)


Calculate each of the following:

i)
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ii)


What is the GST on a $38 sale?

iii)

Calculate 48.4% tax on an income of $78 372 pa.





iv)
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v)
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vi)

[image: image11.wmf]4
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vii)
[image: image12.wmf]3600






viii)

7 – 3












ix)


– 5 + 8 – 2





































(1 each)

b)

Write the following in index form:


5 x 5 x 5 x 5











 
























(1)

c)

Arrange the following integers in ascending order:


–2, 1, 0, –3, –1


















(1)

d)
Haile received 
[image: image13.wmf]7

4


of the inheritance.  Hud received 
[image: image14.wmf]7

1

 
of the inheritance.


If there was $30 000 left, what was the value of the inheritance?





















(2)

Question 2 (CD5.1



8 marks)

a)

Write a definition of probability.




















































(1)

b)
A die is thrown.  What is the probability of each of the following happening?


a)


1



























b)


even







































(2)

c)
Fifty cards are numbered 1 to 50.  What is the probability of selecting a card that shows the following?





a)


>40
























d)


a number divisible by 10





















(2)


d)
If a die was tossed 120 times, how many times would a number less than four be expected to appear?







































































(1)

e)  The following game is played with a die:





A Hit is a 1 or 6












A Miss is a 2, 3, 4, or 5 





If you get a Hit you score 10 points.  
If you Miss you lose 1 point.

If after 30 throws you have a positive score then you are a winner.  If you have a negative score then you are a loser.  

Comment on the fairness of the game.  Use theoretical probability to support your point of view.












































































(2)

Question 3 (PA5.2



7 marks)

a)
Write each of the following as an equation and then solve the equation:

i)


When a number is added to eight, the result is twenty-two.






















(1)

ii)


When a number is divided by six the answer is five.





























(1)


iii)

























iv)

























v)




















































































(1,1,1)


vi)

The lengths of a triangle are  x, 3x, and 4x.  The perimeter is 48 m.















(2)

Question 4 (S5.2



7 marks)

a)


Write the following directions as compass bearings:

i)

S





























ii)

W








































(1,1)

b)


Use a protractor to measure the bearing of each of the following lines:





i)
































ii)











































(1,1)
c)
If a map has a scale of 1 : 100 000, what is the actual distance between two points that are 9 cm apart?


































































(1)

d)
Name the Australian city closest to the following Earth coordinates


i)

34°S  118°E



















ii)


42°S  146°E





























(1,1)


ooooooOOOoooooo




	Mathematics                              End Term 3

                                                             40 mins

35 marks                                                Date


	Instructions:  1.  Answer all questions.

 2.  Calculators permitted

                   3.  Protractors required for Question 4b)


Question 1 (N5.1, N5.2, N5.3



13 marks)

a)


Calculate each of the following:

i)


[image: image15.wmf]2
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ii)


What is the GST on a $67 sale?

iii)

Calculate 38.9% tax on an income of $51 208 pa.





iv)
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v)
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vi)
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vii)
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viii)

6 – 7












ix)


– 4 + 2 – 3





































(1 each)

b)

Write the following in index form:


6 x 6 x 6 x 6 x 6







 
























(1)

c)

Arrange the following integers in ascending order:


–4, –1, 0, 3, 2



















(1)

d)
Greta received [image: image20.wmf]8

3


of the inheritance.  Gary received [image: image21.wmf]8

2

 of the inheritance.


If there was $30 000 left, what was the value of the inheritance?





















(2)

Question 2 (CD5.1



8 marks)

a)

Write a definition of probability.




















































(1)

b)
A die is thrown.  What is the probability of each of the following happening?


a)


2



























b)


odd








































(2)

c)
Sixty cards are numbered 1 to 60.  What is the probability of selecting a card that shows the following?





a)


>50
























d)


a number divisible by 6























(2)


d)
If a die was tossed 120 times, how many times would a number less than three be expected to appear?







































































(1)

e)  The following game is played with a die:





A Hit is a 1, 2, or 3












A Miss is a  4, 5, or 6 





If you get a Hit you score 1 point.  
If you Miss you lose 1 point.

If after 30 throws you have a positive score then you are a winner.  If you have a negative score then you are a loser.  

Comment on the fairness of the game.  Use theoretical probability to support your point of view.












































































(2)

Question 3 (PA5.2



7 marks)

a)
Write each of the following as an equation and then solve the equation:

i)


When a number is added to nine, the result is twenty-six.

























(1)

ii)


When a number is divided by three the answer is four.



























(1)


iii)

























iv)

























v)




















































































(1,1,1)


vi)

The lengths of a triangle are  x, 2x, and 5x.  The perimeter is 64 m.















(2)

Question 4 (S5.2



7 marks)

a)


Write the following directions as compass bearings:

i)

E





























ii)

SW






































(1,1)

b)


Use a protractor to measure the bearing of each of the following lines:






i)
































ii)











































(1,1)
c)
If a map has a scale of 1 : 100 000, what is the actual distance between two points that are 11 cm apart?

































































(1)

d)
Name the Australian city closest to the following Earth coordinates


i)

13°S  132°E



















ii)


23°S  135°E





























(1,1)


ooooooOOOoooooo

Alice Springs





Adelaide





Darwin





Perth





Sydney





Brisbane





Hobart
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150°E
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